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Swell = ([image: image2.png]weight / bank unit volume

weight/ loose unit volume



1) * 100

Load factor = [image: image4.png]weight/ loose unit volume
weight/ bank unit volume




Or

 Load factor =  [image: image6.png]1+swell




Shrinkage = (1[image: image8.png]weight / bank unit volume
weight/ combacted unit volume



) * 100

Shrinkage factor = [image: image10.png]weight/ bank unit volume
weight / compacted unit volume




Or

 Shrinkage factor =  [image: image12.png]1 — shrinkage
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Conical Spoil Pile
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Triangular Spoil Bank
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